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<h3 id="Redisaz&Hc&redis-conf">Redis FEsBcE redis.conf</h3>

<ul>

<li>redis B EINHBCE SR T E(E <strong > GRS ESATIRES </strong > Ry </li>

</ul>

<pre><code class="language-bash highlight-chroma"> <span class="highlight-line"><span c
ass="highlight-cl">{=1-7Z58§&: docker container stop myredis

</span></span><span class="highlight-line"> <span class="highlight-cl">ffl#Z588: docker
ontainer rm myredis

</span></span></code></pre>

<ul>
<li >|§%EFF§3@U@§%§ (B aREcEEERITRAER] </li>
</ul>

<pre><code class="language-bash highlight-chroma"> <span class="highlight-line"> <span c
ass="highlight-cl">1. gl dockerg—HIFNIPECE 4

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">mkdir -p docker/r
dis/<span class="highlight-o">{</span>conf,data<span class="highlight-o">}</span>
</span></span><span class="highlight-line"><span class="highlight-cl|">

</span></span> <span class="highlight-line"> <span class="highlight-cl">2. fTEconfERlzr
dis.conflIBECE 14

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl">touch /docker/red
s/conf/redis.conf

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span> </span><span class="highlight-line"> <span class="highlight-cl">3. redis.conf3{4
REFEBTE T, MWLERS

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl">4. g{#/5sh&z§,
BECE XA ANEE

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl">docker run -d --pr
vileged<span class="highlight-o0">=</span> <span class="highlight-nb">true</span> -p 63
9:6379 -v /docker/redis/conf/redis.conf:/etc/redis/redis.conf -v /docker/redis/data:/data --na
e myredis redis redis-server /etc/redis/redis.conf --appendonly yes

</span></span></code> </pre>

<h3id="1-fgN">1. &/ r</h3>

<hd id="HARFAL-">HARFAN? </h4>

<p>#JF<strong> KAt </strong>FENEISEIEHTRTE, SRR EISRERETEHITIR

R TARHEIRRI9E AL, </p>

<h4 id="AHABRFANL" > I AEFAL </hd>

<p><strong>PALk </strong>EIEAIESP <strong>FE%k </strong>, TRIREIE <strong>ZLLetE</st

\%

\%

\%

\%

ong></p>
< h|4 id="FFANTRRFHA" > FANTERF 4 </h4>
<ul>

<li>1g =R <strong > EYRIRE </strong > #H{THRTF, <strong>iRER</strong>F7z(, FEHIRER
AEEIUEER, KIERFE <strong>#E </strong> </Ii>

<li> &R < strong > RIS FE < /strong >#{T{RIE, <strong>HiE</strong>Fx,, FEERIET

. FERIIES, KEREEURRMRIE <strong>1dFE </strong> </li>

</ul>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-908143636747936880-3ef55873.png?imageView2/2/inter
ace/1/format/jpg"></p>

<h3 id="RDB">RDB</h3>

<h4 id="RDBEzi/5=,--save">RDB E&i/5{,——save</h4>
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<ul>

<li>&ps</li>

</ul>

<p><code>save</code></p>

<ul>

<li>{EA</li>

</ul>

<p> FERPUT RIRIFIRIE</p>

<h4 id="RDBE;E1HX <" >RDB B EIEXMmS </h4>

<ul>

<li>dbfilename dump.rdb

<ul>

<li>1HBE: IREAMEBUEE]ER, EAMES dump.rdb</li>

<li>£255: BEIREN dump-iwOS.rdb</li>

</ul>

</li>

<li>dir

<ul>

<li>BR: IRETFE.rdb SUHFRIEREE </li>

<|i>|é§5ﬁ: BEREMFETSERANBERS, BREIR data</li>

</ul>

</li>

<li>rdbcompression yes

<ul>

<li>iHBf: REFEEAMETEENEREETE, BN yes, KA LZF [E45</1i>

%I;ééﬂﬁl BERAAFENRE, WRIREN no, FAILITE CPU I THIE, (BEEEREIS4EX
) </li>

</ul>

</li>

<li>rdbchecksum yes

<ul>

<li>i7Bf: REEEHIT RDB HHERL, 2RI FEES RIS (T2 T </1i>

<li>&256: BERANNSNFABRES, WRIZEN no, JLITLEEMHIRELY 10% e E, BEFHE

TERIEURIRIAKIE </1i>

</ul>

</li>

</ul>

<h4 id="RDBE&N/5\--saveig<$ THEFIE" >RDB EaA——save i8S TIERE </h4>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile

com/file/2021/02/solo-fetchupload-3275381621037016060-f327ad6d.png?imageView2/2/int

rlace/1/format/jpg"></p>

<p><strong>jFE </strong>: <strong>save 1< </strong>HIH11T& <strong>[HZE < /strong >

B Redis 5588, EZI=4A0 RDB idi25epkalt, BRIBERIERL <strong>IKETEIEEZE </strong>,

FIRIE <strong> ARNEEIUFER </strong>, </p>

<h4 id="RDBFzj/5\--bgsave" >RDB j3&1/5——bgsave </h4>

<ul>

<li>5s</li>

</ul>

<p><code>bgsave</code></p>

<ul>

<li>{ER</li>

</ul>

<p>FRBEIEERERE, H<strong>REMEHIT</strong></p>

<h4 id="RDBE&NH----bgsaveig S TE/RIE">RDB Eai/AT bgsave {5<$ T{ERE </h4>
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<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile

com/file/2021/02/solo-fetchupload-5219881797716744699-c5ce670a.png?imageView2/2/int

rlace/1/format/jpg"></p>

<p><strong>jF&E</strong>: <strong>bgsave &< </strong> 25T save PHEEAIFRMHAY <stro

g>{fitt</strong>, Redis REBFTEIFNZEI RDB #{F&IRA bgsave AI5T0, save agRILAGHE
, ¥EFER bgsave</p>

<p><strong>bgsave RYRFRIEAILUEIT redis FIAEEE </strong></p>

<p><code>docker logs myredis</code></p>

<h4 id="RDBE®IH T ---savefit&" >RDB &5, —save Bit&E</h4>

<ul>

<li>feE</li>

</ul>

<pre><code class="language-bash highlight-chroma"> <span class="highlight-line"> <span c

ass="highlight-cl">save second changes

</span></span></code></pre>

<ul>

<li>{EA</li>

</ul>

<p>j#E <strong>PREATIA </strong >SBEIR key RIZ(LEEILE! <strong >FEEEE </strong>

B TIRAN</p>

<ul>

<li>&#</li>

</ul>

<p>second: Us¥ERJESEE</p>

<p>changes: 5= key EZLE</p>

<ul>

<li>EEME </li>

</ul>

<p>TE <strong>conf X{¥</strong>HH{TECE </p>

<h4 id="RDBE&/5T\---saveFL BRIE">RDB F&1/5, ——save FLE/RIE </h4>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile

com/file/2021/02/solo-fetchupload-6436265016186989415-b24ca02b.png?imageView2/2/int

rlace/1/format/jpg" > </p>

<p><strong>jF&E</strong>: </p>

<ul>

E<'J“>/S|‘ave BCERRESCRV S ERHTIRE, MRS SR HIMRE IR, SRAERX
J</li>

<li>save ELEHXIF second 5 changes IRE@HEES <strong>BiMIM </strong>K&E (—

—NN) . REFREREMEESMRR</i>

<li>save BeEENEHITAIZ <strong>bgsave ##{E</strong> </li>

</ul>

<h4 id="RDBEmARIILL" >RDB Eahamxdtl </h4>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile

com/file/2021/02/solo-fetchupload-5774434121119482721-809c6aed.png?imageView2/2/int

rlace/1/format/jpg" > </p>

<h4 id="RDB{fifiRr2">RDB {fifkm </h4>

<ul>

<li>fLm=

<ul>

<li>RDB E—MNEEFMI i HISIH, <strong > FENERE </strong> </li>

<li>RDB REBFHERIR redis R MJERAVEUERER, IEEESHT <strong>EiEEH, =88
</strong>%Ep=</li>

<li>RDB kE#HEA <strong >IEE </strong>ELE AOF <strong>1fR</strong>RZ </li>
<li>pZF3: BRSSREPE X 4T bgsave &fp, 74§ RDB X{HENZIiniZHlas+, <strong>H
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RYUEWRE </strong> </li>

</ul>

</li>

<li>HRm

<ul>

<li>RDB SHFEICEIUTIESIERFIRECE, <strong>TTAMEISLRIFFA{L </strong>, BEHIK
BIREMERREIE</1i>

<li>bgsave 18$E/RIEITEHIT fork B{E<strong> BlIFEFHFE</strong>, E<strong> 4t </st
ong>E—L<strong> 8L </strong> </li>

<li>Redis RIRSMRAHARIIT RDB SFETAIRAS—, B RHMSIRAIRS Z[BEHEE0 <str
ng>ToiEFS </strong>Ig </li>

</ul>

</li>

</ul>

<h3 id="AOF">AOF</h3>

<h4 id="AOF#:Z">AOF & </h4>

<ul>

<li>AOF(append only file)FFA{t: LURZHERIGTUICR <strong>&R</strong>5mp<, EF
BEHHIT AOF Mhas<, LUARIKEEUERIERY. 5 RDB fHELEILAB BREIAASICREWE/9IC
IR ERNTRE</li>

<li>AOF NEB(FRAEMRR 7 #IERH ARSI, BRIESLRE Redis FALAI<strong>FEifi</str
ng>HAz</li>

</ul>

<h4 id="AOFE#UEITE">AOF BEXiEZFE</h4>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-1528847722020815619-af038bde.png?imageView2/2/int
rlace/1/format/jpg"></p>

<h4 id="AOFE#{E=#%Ms-appendfsync-">AOF SHUE=FhR(appendfsync)</h4>

<ul>

<li>always

<ul>

<li>BERENERIEHRILSE] AOF 30, HUEFIRE, <strong>MEER(E</strong>, <strong>A
IWfFEF </strong></li>

</ul>

</li>

<li>everysec

<ul>

<li>BWREPXPRISSELER] AOF X4, HIREMHIERE, <strong>MRERE </strong> |
strong>E{FEA </strong>, HEIFIAEE </li>

<li >|?£§2}E§§%§7MEI’\JT%7E'F§'§9€ 1 B RREE</li>

</ul>

</li>

<li>no

<ul>

<li> BIMERFIEHEIRELE AOF SUHHIEHR, FEIKITIZE <strong>ARaJfZE</strong> </li>
</ul>

</li>

</ul>

<h4 id="AOFINgEFZ">AOF IhEEFFE </hd>

<ul>

<li>Eg& </li>

</ul>

<p><code>appendonly yes|no</code> </p>

<p><code>{EM</code></p>
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<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">EEFFEAOFRFALINEE,

</span></span></code></pre>

<p> <strong>EIAARFEIK </strong> </p>

<ul>

<li>mR&E</li>

</ul>

<p><code>appendfsync always|everysec|no</code> </p>

<ul>

<li>{EF

<ul>

<li>AOF S#iEREE </li>

</ul>

</li>

</ul>

<h4 id="AOFEE">AOF EE</h4>

<h5 id="#0">¥n </h5>

<ul>

<li>HZN SEIHEIEABBE NG </li>

<li>ZBH&<strong> TR </strong>, EERMEARENEIEEREMN, XEFHI AOF {4 <str
ngI>Rﬁ%’§'§i§§ﬁ)§ﬁ§5)\ﬁ%</strong>

<ul>

<li>40 del key1, hdel key2, srem key3. set key4 111, set key4 222 & </li>
</ul>

</li>
<li> HE—HENERSHOEIA—FH
<ul>

<li>4 Ipush list1 a. lpush list1 b, Ipush list1 ¢ ATLAREAE9: Ipush list1 a b c</li>

<li> APE LIRS CEREFIHmE FXiEE, X list, set, hash, zset E3E, BFKIESRETBA
64 NoE</li>

</ul>

</li>

</ul>

<h5 id="g0{aIfsEAE" > AfaIfsE A < /h 5>

<ul>

<li>FHPES

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">bgrewriteaofCopy

</span></span></code></pre>

</li>

<li>BmiES

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">auto-aof-rewrite-min-size size

</span></span><span class="highlight-line"> <span class="highlight-cl">auto-aof-rewrite-
ercentage percentage

</span></span></code> </pre>

</li>

</ul>

<h5 id="T{F/RIE"> T{FRE </h5>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-2589856151334862836-df638709.png?imageView2/2/int
rlace/1/format/jpg" > </p>

<h5 id="AOFEmIEE">AOF B&EE </h5>

<ul>
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<li>BHMEEBMAFRMHRE

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">//RESRIR/NAN

</span></span> <span class="highlight-line"> <span class="highlight-cl">auto-aof-rewrite-
in-size size

</span></span> <span class="highlight-line"> <span class="highlight-cl"> //ft & ES/AZ|
=UN=p)d

</span></span><span class="highlight-line"> <span class="highlight-cl">auto-aof-rewrite-
ercentage percentCopy

</span></span></code> </pre>

</li>

<li>BHESMALILISE (151718< info Persistence SJREREIKERE )

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">//=R1.aofAYSZHRN

</span></span><span class="highlight-line"> <span class="highlight-cl">aof current size
</span></span><span class="highlight-line" > <span class="highlight-c|" > //ER 4K/
</span></span><span class="highlight-line"> <span class="highlight-cl">aof base size
</span></span></code> </pre>

</li>

</ul>

<p>BmESMAZEML</p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-9005840076419701272-b84a542d.png?imageView2/2/in
erlace/1/format/jpg"></p>

<h5 id="T{F/RIE-"> T{F/RIE</h5>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/04/f22e7b8589b44ff990c9b5fd9b343fc5.png?imageView2/2/interlace/1/forma
/ipg"></p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-365349099478898342-9aae8c6d.png?imageView2/2/inter
ace/1/format/jpg"></p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-7379011924688790799-deelab6a.png?imageView2/2/int
rlace/1/format/jpg" > </p>

<h5 id="&/MRME" > ZIMRME < /h5>

<p>AOF EHRXFEL RS, HSE <strong>appendfsync</strong> ] </p>

<ul>

<li>write B{FRRUAIERS (delayed write) #1f, Linux FERNZIRMTUE T XA KIRSER 10
Bt. write BFEBARFEPXFERRME, FLSEERFK BTRFEEENG, Fa0: ZhXW
[ES#HSAEASENEREE, FENM4Z 7, MRERRFHESN, BPXRIEEESR, </i>
<li>fsync SIRIRNIAHR(E (gl AOF 3Xf4) |, HEEFIRRRERIE, fsync ISRRZMIE SNBSS
E/i&llﬁl , PRIET 8RR A</li>

</ul>

<h4 id="4-RDB-VS-AOF">4_ RDB VS AOF</h4>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-2762914679171560944-edf138c4.png?imageView2/2/int
rlace/1/format/jpg"></p>

<h5 id="RDBSAOF#I5%EE 2 %" >RDB 5 AOF Fisi¥Z =% </h5>

<ul>

<li>XSHHEIER <strong >8R </strong>, EIWEFIEAIARY <strong>AOF </strong> FAIITER
<ul>

<li>AOF A {LRIEEER <strong>everysecond</strong>, &b fsync —R, 1ZZRHEE redis {3
LARIFRIFAO IR RE, SHIMRIREE, &BEK 0-1 RAvEdE. </Ii>

<li>FE: BT AOF 34 <strong>FERFREL K < /strong>, H<strong>REiRERIE </strong
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</li>

</ul>

</li>

<li T%&?EEEW strong>iERBEME </strong>, EINfEF RDB HANEZ

<ul>

<li>EHRATLIRFAIEEIMERNTER (ZMBREFRETIEEARFTHEIFRY) , H<strong>ik

ERERIR</strong>, R REUERSEFERFA RDB 755</Ii>

<|i>|iI%f: FF3 RDB LI RERIEURIFANA(E Redis PEAVIRIE</1i>

</ul>

</li>

<li>ZxELxs

<ul>

<li>RDB 5 AOF RY&IESLRR E2EM—MpiNE, SFrEiaFaiR</li>

<li>WNARBEERSZE D TPLARAIEIRER, X SEUEIFE <strong>8URk</strong>, %A <strong>

OF</strong></li>

<li>UNBEARSZH D THLARBIEIEERR, BIERAEIESER <strong>IKEEE </strong>, &M <stro

g>RDB</strong> </li>

<li><strong>KMEKREI%EFR RDB</strong> </li>

<I|i>5(2{%[‘ﬁ%ﬂ§, BEfFFE RDB 1 AOF, EJ3fg, Redis {i5tfEA AOF RIKSHURE, FRREREURE

/li>

</ul>

</li>

</ul>

<h2 id="RedisE&53" >Redis S </h2>

<h3 id="RedisE=EMIEN">Redis ESIEN </h3>

<p>redis FESHE—NanSHUTAIBAGI, B—RFIFIE N dn<e <strong > BZEm— M E{K < /strong >

%ﬁ\ﬁ)\%"ﬂ) o SHUTHS, <strong>—IRIHZRRFMIFHORHAIT </strong>, FRIEARSHITHIEE
L</p>

< h|3 id="SSRIBERNERE" > ESZAIENERIE</h3>

<ul>

<li>

<p>FHFHES</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">multiCopy

</span></span></code> </pre>

<ul>

<li>{EFR

<ul>

<Ii>|{’Eiﬁfﬁ$%E’\JﬁEﬁ§, ESHITE, BRERMBIESIIMARIESH </li>

</ul>

</li>

</ul>

</li>

<li>

<p>BUEZES</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">discardCopy

</span></span></code> </pre>

<ul>

<li>{EFA

<ul>

<li>ZIFHRIESEN, KERE multi Zf5, exec Zai</li>
</ul>

</li>
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</ul>

</li>

<li>

<p>HUTHES</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">execCopy

</span></span></code></pre>

<ul>

<li>{EF

<ul>

<li>ZREBSERME, EIHRITES. <strong>5 multi BISHIL </strong>, REXIER </li>
</ul>

</li>

</ul>

</li>

</ul>

<h3 id="3-FSRENEARME">3. FEFRIEERRE</h3>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2021/02/solo-fetchupload-6992967775687494462-193e0c57.png?imageView2/2/int
rlace/1/format/jpg" > </p>

<h3 id="4-FSRENTEEI">4. FEFRERTEEEm</h3>

<p|> <strong>EMFEFRITIEF, IRIUBNBREAD? </strong></p>

<ul>

<li>{EEEIR

<ul>

<li >|T‘§ﬁ%\=ﬂ‘—% BIVAIR FINHT T —FAFERES </li>

</ul>

</li>

<li>4hIEeER

<ul>

<li>NRENHNEFSPHEENBSFEERER, BISEST<strong>rEmSIIASHIT</stro
g9>. BIEAPEIEEIERIER<S </1i>

</ul>

</li>

</ul>

<p><strong>ENFFHIIREF, SHITHIEREAN? </strong></p>

<ul>

<li>ZTHER

<ul>

<li>$gan<$ <strong>1&x(1EHE</strong>, {BR <strong>FoRIEMRIHIT</strong>, BIRNXT list
17 incr #4E</li>

</ul>

</li>

<li>4MBELER

<ul>

<li >|%‘EﬁJZIEEﬁi§ﬁE’\Jn‘B@%#Lﬁ, EITERIa S ASHHAT </li>

</ul>

</li>

</ul>

<p><strong>;E&E </strong>: BEHITTEAIGRSXIMNAVEYE <strong> AR BafElIR </strong>
maErRECAERIEPIIEIR, </p>

<h3 id="5-BEFREFRMNESHT >5. EFTIHEFMISESHNIT</h3>

<h4 id="84">%li</h4>

<ul>

BSGiEE: redis [EBA4 &amp; =55 &amp; ]
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<li>Xg key YRANUSINEH, TEHT exec BIANGE key BT, RIFEEHIT

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">watch key1, key2....Copy

</span></span></code> </pre>

</li>

<li>BUEss <strong>Fg </strong> key HI¥SHL

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">unwatchCopy

</span></span></code></pre>

</li>

</ul>

<h4 id="51528" > Tzt </h4>

<ul>

<li>

<p>fEH setnx IRE— M H8i</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">// E8d

</span></span> <span class="highlight-line"> <span class="highlight-cl">setnx lock-key val

e

</span></span><span class="highlight-line"> <span class="highlight-cl" > //FZh{

</span></span><span class="highlight-line" > <span class="highlight-cl">del lock-keyCopy

</span></span></code> </pre>

<ul>

J;th ;%U/i!% setnx apPHIRMENESHE, BIE (HFLEHT) MREIREXW, FE (HLH) Wik
To</h>

<li>REEEE del EAERRRBI</1i>

</ul>

</li>

</ul>

<p><strong>jERE</strong>: FIARRGRE—F<strong>igitil&</strong>, KEHEIRIE

EERRE</p>

< hfl id="2MmIVBIINE" > DU BIINE </h4>

<ul>

<li>{$F expire 798 key FhN<strong>AHEPRE </strong>, BIRTARERRL, HEEEH

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">expire lock-key seconds

</span></span><span class="highlight-line"> <span class="highlight-cl">pexpire lock-key

illisecondsCopy

</span></span></code></pre>

</li>

<li> TR FBFEHEMIONENER, FOZMEE<strong>AEIREIT A </strong>, B{RES

w2 SN EHEA.

<ul>

<li>flgn: FHFEMANRERIKHIUTAIAE 127ms, SEHATHIE 7ms, </Ii>

<li> MW B HREAHITRNEIRI R ap SRIRAGERS, B 5 IRRAREIREIFERT </1i>

<li>BiAENREHE : BAFER <em>120%+ FHIMLEIER </em> 110%</li>

<|i>|§ZD%iIL%EE§jC$%EIa‘ &lt,&lt; PEEITFER, BEA 2 MER, NEFRNMEIBIKRIRT </li>

</ul>

</li>

</ul>

<p>EEF: </p>

<pre><code class="language-java highlight-chroma" > <span class="highlight-line"> <span c

ass="highlight-cl">

</span></span> <span class="highlight-line"> <span class="highlight-cl"> <span class="high
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ight-cm" > /**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @author hax redis#i

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * Created by Administrator on 2020/9/4.

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-nd">@Component</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">public</span> <span class="highlight-kd">class</span> <span class="highlight-n
">RedisLockHandler</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">private</span> <span class="highlight-kd" >static</span> <span class="highli
ht-kd" >final</span> <span class="highlight-n">Logger</span> <span class="highlight-n">
OGGER</span> <span class="highlight-o0">=</span> <span class="highlight-n">LoggerFac
ory</span><span class="highlight-o">.</span> <span class="highlight-na">getLogger</sp
n><span class="highlight-o">(</span><span class="highlight-n">RedisLockHandler</span
<span class="highlight-o">.</span> <span class="highlight-na">class</span><span class="
ighlight-0">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd" >private</span> <span class="highlight-kd" >static</span> <span class="highli
ht-kd">final</span> <span class="highlight-kt">int</span> <span class="highlight-n">DEF
ULT SINGLE_EXPIRE_TIME</span> <span class="highlight-o">=</span> <span class="highli
ht-mi">3</span> <span class="highlight-o">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nd">@Autowired </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-n">JedisClientPools</span> <span class="highlight-n">jedisClientPool</span> <spa
class="highlight-o0">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * 3REV8 SNRBATA ZBPIREtrue, FBNiR[EIfalse
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param billldentify

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @return

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">boolean</span> <span class="highl
ght-nf">tryLock</span> <span class="highlight-o">(</span><span class="highlight-n">TSu
erclass</span> <span class="highlight-n">billldentify</span><span class="highlight-o">)<
span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">TimeUnit</span> <span class="highlight-n">timeUnit</span> <span class="h
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ghlight-0">=</span> <span class="highlight-n">TimeUnit</span><span class="highlight-o
>.</span><span class="highlight-na">SECONDS</span> <span class="highlight-o">;</spa
>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-c1"> /A% & 30RbfORT Il TAT A

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-k">return</span> <span class="highl
ght-n">tryLock</span><span class="highlight-o">(</span> <span class="highlight-n">billl
entify</span> <span class="highlight-o">,</span> <span class="highlight-mi">20</span> <
pan class="highlight-0">,</span> <span class="highlight-n">timeUnit</span><span class=
highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">void</span> <span class="highlight
nf">lock</span> <span class="highlight-o">(</span> <span class="highlight-n">TSuperclas
</span> <span class="highlight-n">billldentify</span> <span class="highlight-0">)</span>
<span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">this</span><span class="highlight-0">.</span> <span class="highlight-na">vo
dLock</span> <span class="highlight-0">(</span> <span class="highlight-n">billldentify </s
an><span class="highlight-o0">);</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-0">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * S{fE¢ERISREAR=A, NEREBIRDN REtrue, BNR[Efalse
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param billldentify

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param timeout

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param unit

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @return

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">boolean</span> <span class="highl
ght-nf">tryLock</span> <span class="highlight-o">(</span> <span class="highlight-n">TSu
erclass</span> <span class="highlight-n">billldentify</span><span class="highlight-o">,</
pan> <span class="highlight-kt">long</span> <span class="highlight-n">timeout</span>
span class="highlight-0">,</span> <span class="highlight-n">TimeUnit</span> <span clas
="highlight-n">unit</span><span class="highlight-0">)</span> <span class="highlight-o"
{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">String</span> <span class="highlight-n">$ lockKey</span> <span class="hig
light-0">=</span> <span class="highlight-o">(</span><span class="highlight-n">String</
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pan><span class="highlight-0">)</span> <span class="highlight-n">billldentify</span><s
an class="highlight-o">.</span> <span class="highlight-na">getTSuperclassKey </span><sp
n class="highlight-0">();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">try</span> <span class="highlight-o">{</span>
</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-n">String</span> <span class="highlight-n">$ lockValue</span> <span class=
highlight-0">=</span> <span class="highlight-n">StringUtils</span> <span class="highligh
-0">.</span><span class="highlight-na">uuid </span> <span class="highlight-o">(); </span

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-kt">long</span> <span class="highlight-n">nano</span> <span class="highli
ht-o">=</span> <span class="highlight-n">System</span> <span class="highlight-o0">.</s
an><span class="highlight-na">nanoTime</span> <span class="highlight-o">();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-k">do</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢

ass="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highli
ht-na">info</span> <span class="highlight-0">(</span> <span class="highlight-s">" [3XEX/t
y] lock key: "</span> <span class="highlight-o">+</span> <span class="highlight-n">$ lo
kKey</span><span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-n">Long</span> <span class="highlight-n">i</span> <span class="highligh
-0">=</span> <span class="highlight-n">jedisClientPool</span><span class="highlight-o"
.</span><span class="highlight-na">setnx</span><span class="highlight-o">(</span><sp
n class="highlight-n">$ lockKey</span> <span class="highlight-o">,</span> <span class="h
ghlight-n">$ lockValue</span><span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-k">if</span> <span class="highlight-o0">(</span><span class="highlight-n"
i</span> <span class="highlight-0">==</span> <span class="highlight-mi">1</span><sp
n class="highlight-o0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
cIass="highIight-n" >jedisClientPool</span><span cIass="highIight-o“>.</span> <span class
"highlight-na">expire</span><span class=" highllght 0">(</span><span class=" highlight n
>$ lockKey</span> <span class="highlight-o"> </span> <span class="highlight-n">DEFAUL
SINGLE_EXPIRE_TIME</span> <span class="highlight-o">);</span>
</span></span> <span class="highlight-line"> <span class=" h|gh||ght c"> <span
class="highlight-n">LOGGER</span> <span class="highlight-o">.</span> <span class="highl
ght-na">info</span> <span class="highlight-o">(</span> <span class="highlight-s">" [1&&
get] lock, key: "</span> <span class=“highlight-o">+</span> <span cIass="highIight-n">$
IockKey</span> <span class=" highlight 0">+</span> <span class=" highlight s">", expire i
"</span> <span class="highlight-o' >+</span> <span class="highlight-n >DEFAULT SINGL
EXPIRE_TIME</span> <span class=" h|gh||ght 0">+</span> <span class="highlight-s">" se
onds." </span> <span class="highlight-o0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-k">return</span> <span class="highlight-n">Boolean</span> <span class=
highlight-0">.</span> <span class="highlight-na">TRUE</span> <span class="highlight-o" >
</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-o">}</span> <span class="highlight-k">else</span> <span class="highlight
o">{</span> <span class="highlight-c1">// TZ7E#}
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"> </span> <span class="highlight-k">if</span> <span class="hi
hlight-o">(</span> <span class="highlight-n">LOGGER</span> <span class="highlight-o">.
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/span><span class="highlight-na">isDebugEnabled </span><span class="highlight-0">())</
pan> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <s
an class="highlight-n">String</span> <span class="highlight-n">desc</span> <span class=
highlight-0">=</span> <span class="highlight-n">jedisClientPool</span> <span class="hig
light-0">.</span> <span class="highlight-na">get</span><span class="highlight-o">(</sp
n><span class="highlight-n">$ lockKey</span> <span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <s
an class="highlight-n">LOGGER</span> <span class="highlight-o0">.</span><span class="h
ghlight-na">info</span><span class="highlight-o">(</span> <span class="highlight-s">"
B&fFft/aleary] key: "</span> <span class="highlight-0">+</span> <span class="highlight-n
>$ lockKey</span> <span class="highlight-o0">+</span> <span class="highlight-s">" locke
by another business: "</span> <span class="highlight-o">+</span> <span class="highligh
-n">desc</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢

ass="highlight-k">if</span> <span class="highlight-o0">(</span><span class="highlight-n"
timeout</span> <span class="highlight-0">==</span> <span class="highlight-mi">0</spa
><span class="highlight-o0">)</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-k" >break </span> <span class="highlight-o0">;</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢

ass="highlight-n">Thread </span> <span class="highlight-o">.</span> <span class="highlig
t-na">sleep</span> <span class="highlight-o">(</span> <span class="highlight-mi">300</
pan><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-o0">}</span> <span class="highlight-k">while</span> <span class="highlight-o
>((</span><span class="highlight-n">System</span> <span class="highlight-o">.</span> <
pan class="highlight-na">nanoTime</span><span class="highlight-o">()</span> <span cla
s="highlight-0">-</span> <span class="highlight-n">nano</span> <span class="highlight-
">)</span> <span class="highlight-o">&lt;</span> <span class="highlight-n">unit</span
<span class="highlight-0">.</span> <span class="highlight-na">toNanos</span> <span clas
="highlight-0">(</span><span class="highlight-n">timeout</span> <span class="highlight
0">));</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-k">return</span> <span class="highlight-n">Boolean</span><span class="hig
light-0">.</span> <span class="highlight-na">FALSE </span> <span class="highlight-o">;</
pan>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span> <span class="highlight-k">catch</span> <span class="highlight-o">
</span><span class="highlight-n">JedisConnectionException</span> <span class="highlig
t-n">je</span><span class="highlight-o">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-o0">.</span><span class="highlight
na">error</span><span class="highlight-o">(</span> <span class="highlight-n">je</span
<span class="highlight-0">.</span> <span class="highlight-na">getMessage</span> <span
lass="highlight-0">(),</span> <span class="highlight-n">je</span> <span class="highlight-
">),</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas
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="highlight-n">returnBrokenResource</span> <span class="highlight-o">(</span><span cl
ss="highlight-n">jedisClientPool</span><span class="highlight-0">.</span><span class="h
ghlight-na">getledis</span> <span class="highlight-o0">()); </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">catch</span> <span class="highlight-o" >
</span> <span class="highlight-n">Exception</span> <span class="highlight-n">e</span>
span class="highlight-0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highlight
na">error</span> <span class="highlight-o">(</span><span class="highlight-n">e</span>
span class="highlight-o">.</span> <span class="highlight-na">getMessage </span> <span cl
ss="highlight-0">(),</span> <span class="highlight-n">e</span> <span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">finally</span> <span class="highlight-o"
{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">returnResource</span><span class="highlight-o">(</span><span class="hi
hlight-n">jedisClientPool</span><span class="highlight-0">.</span> <span class="highligh
-na">getJedis</span><span class="highlight-0">());</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=

highlight-k" >return</span> <span class="highlight-n">Boolean</span><span class="highli
ht-0">.</span> <span class="highlight-na">FALSE</span> <span class="highlight-o0">;</sp
n>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl|">

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * dNRPHIZAMRE] KEEM —BESF
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param billldentify

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">void</span> <span class="highlight
nf">voidLock</span> <span class="highlight-o">(</span><span class="highlight-n">TSupe
class</span> <span class="highlight-n">billldentify</span><span class="highlight-0">)</s
an> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">String</span> <span class="highlight-n">key</span> <span class="highlight-
">=</span> <span class="highlight-0">(</span> <span class="highlight-n">String</span>
span class="highlight-o">)</span> <span class="highlight-n">billldentify </span> <span clas
="highlight-0">.</span> <span class="highlight-na" >getTSuperclassKey</span> <span class
"highlight-0">();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">try</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl|"> <span clas

="highlight-k">do</span> <span class="highlight-o">{</span>
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</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-n">LOGGER</span> <span class="highlight-o">.</span> <span class="highli
ht-na">info</span><span class="highlight-0">(</span> <span class="highlight-s">"lock key
"</span> <span class="highlight-0">+</span> <span class="highlight-n">key</span><sp
n class="highlight-o">);</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span c
ass="highlight-n">Long</span> <span class="highlight-n">i</span> <span class="highligh
-0">=</span> <span class="highlight-n">jedisClientPool</span><span class="highlight-o"
.</span><span class="highlight-na">setnx</span> <span class="highlight-o">(</span><sp
n class="highlight-n">key</span> <span class="highlight-o">,</span> <span class="highlig
t-n">key</span><span class="highlight-o">);</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span c
ass="highlight-k">if</span> <span class="highlight-o0">(</span><span class="highlight-n"
i</span> <span class="highlight-0">==</span> <span class="highlight-mi">1</span> <sp
n class="highlight-0">)</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-n">jedisClientPool </span> <span class="highlight-0">.</span> <span class
"highlight-na" >expire</span><span class="highlight-o">(</span> <span class="highlight-n
>key</span><span class="highlight-o">,</span> <span class="highlight-n">DEFAULT SIN
LE_EXPIRE_TIME</span><span class="highlight-o0">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highl
ght-na">info</span><span class="highlight-o">(</span> <span class="highlight-s">"get lo
k, key: "</span> <span class="highlight-o">+</span> <span class="highlight-n">key</spa
> <span class="highlight-o">+</span> <span class="highlight-s">" , expire in "</span> <s
an class="highlight-o">+</span> <span class="highlight-n">DEFAULT _SINGLE_EXPIRE_TIM
</span> <span class="highlight-o">+</span> <span class="highlight-s">" seconds." </spa
><span class="highlight-0">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-k" >return</span><span class="highlight-o">;</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢

ass="highlight-o">}</span> <span class="highlight-k">else</span> <span class="highlight
o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-k">if</span> <span class="highlight-o">(</span> <span class="highlight-n
>LOGGER</span> <span class="highlight-0">.</span> <span class="highlight-na">isDebug
nabled</span><span class="highlight-0">())</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <s
an class="highlight-n">String</span> <span class="highlight-n">desc</span> <span class=
highlight-o">=</span> <span class="highlight-n">jedisClientPool</span> <span class="hig
light-0">.</span><span class="highlight-na">get</span> <span class="highlight-o">(</sp
n><span class="highlight-n">key</span><span class="highlight-o0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <s
an class="highlight-n">LOGGER</span> <span class="highlight-o">.</span><span class="h
ghlight-na">info</span> <span class="highlight-o">(</span> <span class="highlight-s">"ke
: "</span> <span class="highlight-o0">+ </span> <span class="highlight-n">key</span> <s
an class="highlight-o">+</span> <span class="highlight-s">" locked by another business:
</span> <span class="highlight-o">+</span> <span class="highlight-n">desc</span><sp
n class="highlight-o0">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span
class="highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-o">}</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span c
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ass="highlight-n">Thread </span> <span class="highlight-o">.</span> <span class="highlig
t-na">sleep</span> <span class="highlight-o">(</span> <span class="highlight-mi">300</
pan> <span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-0">}</span> <span class="highlight-k">while</span> <span class="highlight-o
>(</span><span class="highlight-kc">true</span> <span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">catch</span> <span class="highlight-o" >
</span><span class="highlight-n">JedisConnectionException</span> <span class="highlig
t-n">je</span><span class="highlight-o">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-o">.</span> <span class="highlight
na">error</span><span class="highlight-o">(</span><span class="highlight-n">je</span
<span class="highlight-o">.</span> <span class="highlight-na">getMessage </span><span
lass="highlight-0">(),</span> <span class="highlight-n">je</span> <span class="highlight-
">),</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">returnBrokenResource </span> <span class="highlight-o">(</span> <span cl
ss="highlight-n">jedisClientPool</span><span class="highlight-0">.</span><span class="h
ghlight-na">getJedis</span><span class="highlight-o">()); </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span> <span class="highlight-k">catch</span> <span class="highlight-o">
</span><span class="highlight-n">Exception</span> <span class="highlight-n">e</span>
span class="highlight-o">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-o0">.</span> <span class="highlight
na">error</span> <span class="highlight-o">(</span><span class="highlight-n">e</span>
span class="highlight-0">.</span> <span class="highlight-na" >getMessage </span> <span cl
ss="highlight-0">(),</span> <span class="highlight-n">e</span> <span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span> <span class="highlight-k">finally</span> <span class="highlight-o"
{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">returnResource</span><span class="highlight-o">(</span><span class="hi
hlight-n">jedisClientPool</span><span class="highlight-o">.</span> <span class="highligh
-na">getJedis</span> <span class="highlight-o0">());</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * BHEl

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param billldentify

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">void</span> <span class="highlight

VvV Vv

<span class="h
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nf">unLock</span><span class="highlight-o">(</span> <span class="highlight-n">TSuperc
ass</span> <span class="highlight-n">billldentify </span><span class="highlight-o0">)</sp
n> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">List</span> <span class="highlight-o">&lt; </span> <span class="highlight-n" >
Superclass</span><span class="highlight-o">&gt;</span> <span class="highlight-n">list</
pan> <span class="highlight-o">=</span> <span class="highlight-k">new</span> <span c
ass="highlight-n">ArrayList</span><span class="highlight-o" > &lt; </span> <span class="hi
hlight-n">TSuperclass</span> <span class="highlight-o" >&agt;(); </span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">list</span><span class="highlight-0">.</span> <span class="highlight-na">ad
</span> <span class="highlight-0">(</span> <span class="highlight-n">billldentify </span>
span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">unLock</span> <span class="highlight-o">(</span><span class="highlight-n"
list</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * SRENFRBRYBELE

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param ids

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @return

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-n">List</span> <span class="highlight-o
>8&lt;</span> <span class="highlight-n">TSuperclass</span> <span class="highlight-o">&gt
</span> <span class="highlight-nf">queryLocks</span> <span class="highlight-o">(</spa
> <span class="highlight-n">List</span><span class="highlight-o" >&lt; </span> <span class
"highlight-n">String</span> <span class="highlight-o">&gt; </span> <span class="highlight
n">ids</span><span class="highlight-o">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">List</span> <span class="highlight-o" >&lt; </span> <span class="highlight-n">
Superclass</span> <span class="highlight-o">&gt;</span> <span class="highlight-n">list</
pan> <span class="highlight-0">=</span> <span class="highlight-k">new</span> <span c
ass="highlight-n">ArrayList</span><span class="highlight-o" > &lt;&gt;(); </span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">ids</span> <span class="highlight-0">.</span> <span class="highlight-na">fo
Each</span> <span class="highlight-o">(</span><span class="highlight-n">id</span> <sp
n class="highlight-o">-8&gt;</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">list</span><span class="highlight-o">.</span> <span class="highlight-na" >
dd</span> <span class="highlight-0">(</span> <span class="highlight-n">TSuperclass</sp
n><span class="highlight-o">.</span> <span class="highlight-na">getVoucher</span><sp
n class="highlight-0">(</span> <span class="highlight-n">id </span> <span class="highlight
0">));</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
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highlight-o0">});</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">return</span> <span class="highlight-n">list</span><span class="highlight-o
>;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * —2FER

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param ids

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @return

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">void</span> <span class="highlight
nf">unLocks</span><span class="highlight-o">(</span> <span class="highlight-n">List</s
an><span class="highlight-o">&lt; </span> <span class="highlight-n">String</span> <span
lass="highlight-o">&gt;</span> <span class="highlight-n">ids</span> <span class="highli
ht-0">)</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">List</span> <span class="highlight-o">&lt; </span> <span class="highlight-n">
Superclass</span><span class="highlight-o">8&gt;</span> <span class="highlight-n">list</
pan> <span class="highlight-o">=</span> <span class="highlight-k">this</span> <span cl
ss="highlight-0">.</span> <span class="highlight-na">queryLocks</span> <span class="hig
light-0">(</span> <span class="highlight-n">ids</span> <span class="highlight-0">);</spa
>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">unLock</span> <span class="highlight-o">(</span> <span class="highlight-n"
list</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * SRS

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param billldentifyList

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">public</span> <span class="highlight-kt">void</span> <span class="highlight
nf">unLock</span> <span class="highlight-o">(</span><span class="highlight-n">List</sp
n><span class="highlight-o">&It;</span> <span class="highlight-n">TSuperclass</span> <
pan class="highlight-o">&agt;</span> <span class="highlight-n">billldentifyList</span><sp
n class="highlight-o">)</span> <span class="highlight-o">{</span>
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</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">List</span> <span class="highlight-o">&lt;</span> <span class="highlight-n">
tring</span> <span class="highlight-o">&agt; </span> <span class="highlight-n">keys</spa
> <span class="highlight-0">=</span> <span class="highlight-k">new</span> <span clas
="highlight-n">CopyOnWriteArrayList</span> <span class="highlight-o">&lt;</span><span
class="highlight-n">String</span> <span class="highlight-o" >&gt;();</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">for</span> <span class="highlight-o">(</span> <span class="highlight-n">TS
perclass</span> <span class="highlight-n">identify</span> <span class="highlight-o">:</
pan> <span class="highlight-n">billldentifyList</span> <span class="highlight-o0">)</span>
<span class="highlight-o">{</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">String</span> <span class="highlight-n">key</span> <span class="highlig
t-0">=</span> <span class="highlight-o0">(</span><span class="highlight-n">String</spa
><span class="highlight-0">)</span> <span class="highlight-n">identify </span><span cla
s="highlight-0">.</span> <span class="highlight-na">getTSuperclassKey </span> <span clas
="highlight-o0">(); </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">keys</span><span class="highlight-o">.</span> <span class="highlight-na
>add</span><span class="highlight-0">(</span><span class="highlight-n">key</span> <
pan class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">try</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-n">jedisClientPool </span> <span class="highlight-o">.</span> <span class="hi
hlight-na">delbath</span><span class="highlight-o">(</span> <span class="highlight-n">
eys</span><span class="highlight-o">.</span> <span class="highlight-na">toArray</span
<span class="highlight-o">(</span> <span class="highlight-k">new</span> <span class="h
ghlight-n">String</span> <span class="highlight-o">[</span><span class="highlight-mi">
</span><span class="highlight-o">]));</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highlight
na">info</span> <span class="highlight-o">(</span> <span class="highlight-s">" [fii&/del
te] lock, keys :"</span> <span class="highlight-o">+</span> <span class="highlight-n">ke
s</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span> <span class="highlight-k">catch</span> <span class="highlight-o">
</span><span class="highlight-n">JedisConnectionException</span> <span class="highlig
t-n">je</span><span class="highlight-o">)</span> <span class="highlight-o">{</span>
</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-o0">.</span> <span class="highlight
na">error</span><span class="highlight-o">(</span> <span class="highlight-n">je</span
<span class="highlight-0">.</span> <span class="highlight-na">getMessage</span> <span
lass="highlight-0">(),</span> <span class="highlight-n">je</span> <span class="highlight-
">),</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">returnBrokenResource</span> <span class="highlight-o">(</span><span cl
ss="highlight-n">jedisClientPool</span><span class="highlight-0">.</span><span class="h
ghlight-na">getlJedis</span> <span class="highlight-o0">()); </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">catch</span> <span class="highlight-o" >
</span> <span class="highlight-n">Exception</span> <span class="highlight-n">e</span>
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span class="highlight-0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-o">.</span> <span class="highlight
na">error</span> <span class="highlight-o">(</span><span class="highlight-n">e</span>
span class="highlight-o">.</span> <span class="highlight-na">getMessage </span> <span cl
ss="highlight-0">(),</span> <span class="highlight-n">e</span> <span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">finally</span> <span class="highlight-o"
{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">returnResource</span><span class="highlight-o">(</span><span class="hi
hlight-n">jedisClientPool</span><span class="highlight-0">.</span> <span class="highligh
-na">getJedis</span><span class="highlight-o0">());</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  * {485z

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param jedis

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span></span><span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-kd" >private</span> <span class="highlight-kt">void</span> <span class="highligh
-nf">returnBrokenResource </span><span class="highlight-o">(</span> <span class="highli
ht-n">Jedis</span> <span class="highlight-n">jedis</span> <span class="highlight-o">)</
pan> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">if</span> <span class="highlight-o">(</span> <span class="highlight-n">jedi
</span> <span class="highlight-o">==</span> <span class="highlight-kc">null</span><s
an class="highlight-o">)</span> <span class="highlight-o">{</span>

VvV Vv

<span class="h

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-k">return</span> <span class="highlight-o">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">try</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-c1">//&%&

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"> </span> <span class="highlight-n">jedisClientPool</span><span c
ass="highlight-o">.</span> <span class="highlight-na">getJedisPool </span><span class="h
ghlight-0">().</span> <span class="highlight-na" >returnBrokenResource </span> <span clas
="highlight-0">(</span><span class="highlight-n">jedis</span><span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span> <span class="highlight-k">catch</span> <span class="highlight-o">
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</span><span class="highlight-n">Exception</span> <span class="highlight-n">e</span>
span class="highlight-0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highlight
na">error</span><span class="highlight-o">(</span><span class="highlight-n">e</span>
span class="highlight-o">.</span> <span class="highlight-na">getMessage </span> <span cl
ss="highlight-0">(),</span> <span class="highlight-n">e</span><span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param jedis

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">private</span> <span class="highlight-kt">void</span> <span class="highligh
-nf">returnResource</span> <span class="highlight-o">(</span> <span class="highlight-n"
Jedis</span> <span class="highlight-n">jedis</span> <span class="highlight-o">)</span>
span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">if</span> <span class="highlight-o">(</span> <span class="highlight-n">jedi
</span> <span class="highlight-o">==</span> <span class="highlight-kc">null</span><s
an class="highlight-o">)</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-k" >return</span> <span class="highlight-o">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">try</span> <span class="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-n">jedisClientPool </span><span class="highlight-o">.</span> <span class="hi
hlight-na">getledisPool</span><span class="highlight-o">().</span><span class="highligh
-na">returnResource</span> <span class="highlight-o">(</span><span class="highlight-n"
jedis</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-0">}</span> <span class="highlight-k">catch</span> <span class="highlight-o" >
</span> <span class="highlight-n">Exception</span> <span class="highlight-n">e</span>
span class="highlight-0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-n">LOGGER</span> <span class="highlight-0">.</span> <span class="highlight
na">error</span> <span class="highlight-o">(</span><span class="highlight-n">e</span>
span class="highlight-o">.</span> <span class="highlight-na">getMessage </span> <span cl
ss="highlight-0">(),</span> <span class="highlight-n">e</span> <span class="highlight-o"
);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-o">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-o">}</span>

</span></span><span class="highlight-line"><span class="highlight-cl">
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</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-o">}</span>
</span></span></code></pre>
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